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The kids were squabbling over the smart gadget.
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Up to now, the mechanic has sent a couple of requests for spare
parts and other urgent messages from one garage to another.
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Garbage disposal is a major problem in most cities the world
over. HIREIBEFHRAZ MK Z BB ARE -
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The injured men are in a critical but stable condition at Los
Angels general hospital.
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This steam is used to turn the turbine blades of generators.
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A recently-established highway system will typically widen the
area of carriageway, and thus increase the cost of maintenance.
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Results have been deferred on account of a malfunction in the
computer. AR EEEWIE - STEBERIEET -
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Drug trafficking carried a mandatory capital punishment.
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The core policy is contingent on manipulating the level of total
demand via fiscal or monetary policy.
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1. Acorkscrew is a very useful
wine.
(A) yacht (B) gadget (C) capsule (D) barge

for opening bottles of

2. The customs the whole cargo.
(A) persecuted (B) prosecuted
(C) concerned (D) impounded

3. can raise productivity and offer bountiful opportunities
for a better life .
(A) Incentives (B) Creativity (C) Originality (D) Inspiration

4. The villagers’ lives were in during the blizzard.
(A) comfort (B) ecstasy (C) pleasure (D) jeopardy

is caused because the body clock does not readjust
immediately to the time change.
(A) Jet lag (B) Pneumonia (C) Diabetes (D) Obesity

6. The book stands out as one of the notable in the
progress of modern science.

(A) notification (B) upticks (C) peaks (D) landmarks

7. Government money was spent on new investments rather
than
(A) maintain (B) maintenance (C) detain (D) detention
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during blizzard. (RESHARBFTESRIGE )
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(A) #12 @) (B) #2 = (C) 198 & (D) 198 =

government money — new investments rather than
(BN EE BRI EMIERBIHERE )

Note| ~ rather than (on) maintenance » #{ANAEEENET maintain °
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